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I Find a real root of the equation.tre' - costr : 0 using Newton - Raphson method. Ll
OR

2 From the following table values of x andy:tan x.Interpolate the values of y when L5

x:0.12 andx:0.28.

Using Euler's method, find an approximate value of y corresponding to x : 0.3

dv
given that += x+ y and y : 1 whenx : 0 taking step size Ir : O.1.

dx

Units 5 x

fNirril

(ii) Using

12M

t2M

12M

L5 t2yI

L6 t2IM

L1

Evaluate i -l-r.Jo l+x

simRson'sf rule and

OR

(i) bV Trapezoidal rule and Simpon's

compare the result with actual value.

1.,.r1.
J

luNrr-rrd

the following data and also findCompute the first four central moments to

Sheppard's correction, A a14 021

Class intervals 0- l0 t0-20 20-30 30-40 40-50 50-60 60-70

fieqr-rency 2 8 l2 40 20 15
a
J

OR

In a certain college 25Yo of boys and l}oh of girls are studying mathematics. The

girls Constitute 60% of the student body. (a) What is the probability that

mathematics is being studied? (b) If a student is selected at random and is found to

be studying mathematics, find the probability that the student is a girl? (c) a boy?

0.151I
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7 a If the probability density function is f(*)={:::;,',;r!:;n-t<x<2 rhen Ll 6M

(i) find the value of k. (ii) find the probability (-1SxS0).

b If the probability density function of a random variable x is L6 6M

r(*) : {u.';;il#;;= 
- 

and r(r { x { 3) : T. rhen nnd the varue

ofk.

OR

8 If a random variable x has the following probability distribution function: L6 12NI

Find i) k ii) Mean iii) Variance.

luNITrvl

9 Fit a Poisson distribution to the following data: L5 LzN{

OR

10 Calculate Correlation coefficient to the following data: LS lzNI

*,1.{< END {<{<*

x -J 1-L -1 0 1 2 J

P(x) k 0.1 k 0.2 2k 0.4 2k

x 0 I 2 J 4 5 Total

f t42 156 69 27 5 1 400

X 10 15 t2 l7 13 t6 24 t4 22 20

Y 30 42 45 46 33 34 40 35 39 38
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